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1. Using the information gathered, describe the climate of the communities you visited.

2. 'Was there a difference in stages of succession in the varicus stations where you collected data?

succession at its earliest; at which station was it clogest to climax?

At which station was

What human influences did you notice that have interfered with the normal process of succession? What is their effect?

Which station do you think showed the greatest variety of organisms and complexity? Why do you think this is true?
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1. Using the information gathered, describe the climate of the communities you visited.

2. Was there a difference in stages of succession in the varicus stations where you collected data? At which station was
. succession at its earliest; at which station was it closest to climax?

3. What human influences did you notice that have interfered with the normal process of succession? What is thelr effect?

4. Which station do you think showed the greatest varicty of organisms and complexity? Why do you think this is true?
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L. Using the information gathered, describe the climate of the communities you visired.

2, Was there a difference in stages of succession in the various stations where you collected data? At which station was
succession at its earliest; at which station was it closest to climax?

3. What human influences did you notice that have interfered with the normal process of succession? Wha is their effect?

4. Which station do you think showed the greatest varicty of organisms and complexity? Why do you think this is true?

47



